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No. me Hh X 1134 L1137 Y LAE BIERR
1 |FvrAyY BHE |[BREET (0BqUT)|HREET (10BalT) [HREET (10BaAT)| HIER
2 |[FrRy BE |BREET 0BT |HREET (10BlT) [#MREET (10BaLT)| iR
3 |FvRY BE |BREET (0B T) |RHE T (10BqLF) |9 (10BqATF)| BiE=
4 [FrRy BA  |BREET (0B T) |[#REET (10BalT) |#RHEE T (10BaL )| iR
5 |[FrARY R |BHEET (10BLLTF) |[#HEEF (10BaLLF) |#HEE 3 (10BqLF)| iz
6 [FrAY IR |BREET (0Bl T) |#REE T (10BallT) [#RHEE 3 (10BaL )| iR
7 |FvRY FE |[REET (10BaLT) (BB (10BqlAF) [ B9 (10BqAF)| BiEz
8 [Fa™Y FH  |BREET 0B T) |[#REET (10BaLlT) [#RHEE 3 (10Bal )| iR
9 [FaoV A [BREET BUT)|REET (10BgLT) [#RHEET (10BaAT)| BiEK
10 |/hiRZR BHE |BREET (0BT |HREET (10BLT) [#REET (1Bl )| iR
11|y =—L4aR A |BREEIT (0B T)|#BHEET (10BaLLT) |#HEE 3 (10BgAF)| i
12| IURY FH  |BREET 0B T) |[#REET (10BaLlT) [#RHEE T (10BaL )| iR
13 [ IURY EE |BRHEE93 (10BqLT) 16.49 16.49 gt
14| IR FE [REET (0B T)|[HREET (10BgAT) |#REE T (10BaL F)| BiE=
15 |RFvTIURY BE |[MEET0BUT)|#BEET (1B T) |[#HEET (10BalLTF)| iz
16 | K= R |[BREET (10BalAT) 16.52 16.52 miE
17|%%7/3 FH |BRHEET(0BUT)|#RHEET (10BaLTF) |#RHEE T (10BaLTF)| iR
18 (2% /3 FiH  [HBEET (10BqLLTF) 14.46 14.46 g
19 (24 /2 R 10.22 20.69 30.91 g
20 | %47 /3 AXE [HEET (10BqLLT) 32.39 32.39 g
21 (B4 /3(F) BE |[MEET0BUT)|#BEET (1B T) |[#HEEF (1Bl TF)| iz
22 (B4 /3 (&) {ZHA (BEHET (10BgLT) [(BEET (10BgAT) [BREET (10BaAT)| BERX
23 [EE BE |REET 0BT |#MREET (10BLLT) [#REET (10BaLT)| iR
24 |EhE B [REET (0B T) |[REET (10BgAT) |#REE T (10Bal F)| #iE=
25 |EhE R |BREET (0Bl T) |[#REE T (10BqLlT) [#REE 3 (10BaL )| iRz
26 |4 51 R |BREET (0Bl T) |[BEET (10BgLLTF) [#HE 9 (10BqlATF)| #iE=X
27 [1&5B< FR  |BREET (10BaLLT) |#REE T (10BqLl ) |#RIEE 3 (10BaL )| iRz
28 7% BHE |[BREET(0BqUT)|#HEET (10BlT) [HREET (10BaAT)| #HIER
29 [7% BAE |REET (0BT |HMREET (10BLLT) [#REET (10BaL )| iR
307+ FE [REET (0B T) |[HREET (10BgAT) |#REE T (10BaL F)| #iE=
3 [[ESNAE BAE |REET (0BT |#MREET (10BLLT) [#REE T (10BaL )| iR
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No. & X ) L1134 S L137 o LEE BIERR
323X+ BT |#BREET(10BalT)|[HREET (10BgAT) |[#RHEEF (10BgAT)| HiEX
33 (3w BE |BREET 0BT |HREET (10BLT) [#REET (10BaLT)| iR
M (3EFXF FE [REET (0B T) |[HREET (10BgAT) |#REE T (10Bal F)| BiE=R
3 [FIEX A |HREET (0BT |[#REET (10BaLLlT) |#RHEE T (10BqL )| iR
36 (73E BHE |[BREET(0BaUT)|HEET (10BalT) [HREET (10BaAT)| HIER
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me X 1134 S L137 o LEE BIERR
A4F3 EIR |3 (25BqLLT) |[HBHEET (25BqLl ) |97 (25BqLL ) | JEmER
A4F3 AE |HREET (25BqLlT)|#&REE T (25BqlL ) |[#&E €3 (25BqlA ) | FEMEER S
K ME |[BHEET(25BqLT)|[BHEET (25BqLLT) |[BRHEET (25BqLLl )| FEfEE
LA BA  |HBREET(25BqLLT) | E 3 (25BqlL ) |[#&E €3 (25BqlA ) | FEMEER S
Ty FiH  |BRHEET(25BqLLT) |[#RHE 3 (25BalL ) |[#&HH £ 3 (25BalA ) | FEBEER
Fry FH  |BREET(25BqLLT) |[#RE 3 (25BqlL ) |[#&E €3 (25BqlA ) | FEREER S
Ty FiH  |RHEET(25BalLT) |3 (25BalL ) |[#&H £ 3 (25BqlA ) | FEBEEER
Fry FH  |BREET(25BqLLT) [T (25BqL ) |[#&E €3 (25BqlA ) | FEREER S
Ty FiH  |BRHEET(25BalLT) | 3 (25BalL ) |[#&H £ 3 (25BalA ) | FEBEER
Fry BA  |HBREET(25BqLLT) |3 (25BqlL ) | €3 (25BqlA ) | FEMEER
Foy A |HREET (25BqLL ) |[#REE T (25BqlL ) |23 (25BqlA ) | FEBER
Fal) AE |[BREET (25BgAT)|[REET (25BalAT) [#RHEE T (25BqlA ) | FERIER
INAEE FH  |BREET(25BqLLT) [T (25BqlL ) |[#RE £ 9 (25BqlA ) | FEBEIR
YZ—LAEX FH  |BREET(25BqLLT) |3 (25BaL ) | €3 (25BqlA ) | FEREER S
Y=——LAR FH  |BREET(25BqLLT) [T (25BqL ) |29 (25BqlA ) | FEBEIR S
YZ—LAEX FH  |BREET(25BqLL )[R 3 (25BalL ) | £ 3 (25BqlA ) | FEREER S
YAy FH  |BREET(25BqLLT) |[#REE T (25BqL ) |29 (25BqlA ) | FEBEIR
XA AE |HREET (25BqllT) | E 3 (25Bqll ) |3 (25BqlA ) | FEMEER
YNYIURY BFH |HREET(25BqLLT) |#&REE T (25BqlL ) |[#&RE 3 (25BqlA ) | FEBEIR
YXIURD BHE |RHEET (25BqlT)|#MREET (25BqLlT) [#MRHE 7 (25BqllT) | IERIER
YYIURY ZHEA [(BREHET (25BgAT) [HBRHET (25BqAT) [T (25BqAT) | FER IR
Waa g ] Ny IR |[BREET (25BglAT) [RHEET (25BalA ) [#RHE T (25BqlA ) | FEREIE
YYIURY FR  |WREE T (25BqlL ) |k 3 (25BqlA ) |[#R £ 3 (25BqlA ) | FEREIR S
YXIURY AE |HRHEET (25BqllT)|#&RHEE 3 (25BqlL ) |3 (25BqlA ) | FEMEER S
YYIURY A |HREET (25Bqll ) |[#HREH T (25BqlL F) |[#&RE 3 (25BqlA ) | FERER S
54 HE |BRHEET (25BqlT)|[#HHEE3 (25BqLlT) |[REET (25BqLL )| FEfIEX
=¥ ZHEA [(BREHET (25BgAT) [HRHET (25BqAT) [ (25BqAT) | IER IR
RAFYTIURY BHH |HREET(25BqllT)|#&RHEE 3 (25Bqll ) |3 (25BqlL ) | FEMEER S
RFvTIURY FH  |BREET(25BqLLT) |k T (25BqL ) |[#&RE £ 3 (25BqlA ) | FERER
RAFYTIURY FH  |BREET(25BqLLT) |3 (25BalL ) | £ 3 (25BalA ) | FEREER S
oA A |BREET (25BqLLT) |3 (25Bqll ) |3 (25BqlA ) | FEMEER
B4/ FH |[BREET (25BqAT)|[RHEET (25BalAT) [#RHEE T (25BalA ) | IERIE
R4r/3 HH [RHEET (25BqAT) |[RHEET (25Bqll T) [#RHEE T (25BqA ) | FERIER
B4/ FH |BREET (25BAT) |[REET (25BaAT) [#RHEE T (25BalA ) | FERKIE
Rr/3 FiH [BmEET(25BqLT) 39.90 39.90 e IE
R/r/2 fEiR  |#®EE9 (25BqLTF) 32.80 32.80 FERRIE
A4/ HE |[HREET(25BqLLT)|HRHET (25BqlAT)|[#@HE 9 (25Ball ) | FEMER
A4/ BE |BEET (25BqLT) 31.40 31.40 JERIER
B4/ BHAE |REET(25BqAT) 26.90 26.90 ERRIER
24/ BAR |[BREET (25BqlAT)|[REET (25BalA ) [#RHE T (25BqlA ) | FERKIE
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41 (B4 /3 BA |HRHEET(25BqLLT) | E 3 (25BalL )[R £ 3 (25BalA ) | FEBEER
42 (247 /3 R |HREE T (25BqlL ) |[#&RE 23 (25BqlL ) |[#& €37 (25BqlA ) | FEREER
43 |24 /3 R [BREET(25BqLT) 36.90 36.90 JEREIER
44 (245 /3 FR  |HREE T (25Bqll ) |[#&RE 3 (25BqlL ) |[#&HE €37 (25BqlA ) | FEREER S
45 (B4 /3 HR  |RHEE T (25BqLL ) | R 3 (25BqlL ) |[#&H £ 37 (25BalA ) | FEBEEER
46 (247 /3 AE |HREET (25BqLlT)|#&REE T (25BqlL ) |[#&HE €3 (25BqlA ) | FEMEER S
47 (847 /3 AE |HRHEET (25BqlLT)|#RHEE T (25Bqll )[R 3 (25BalA ) | FEBEER
48 |24 /2 AE |[BRHEET (25BqAT) 72.90 72.90 IR
49 |84 /3 E |BREET(25BqAT) 39.40 39.40 JER R
50 |4/ /3 A |HREET (25Bqll ) | E 3 (25BqlL ) |[#&HE €3 (25BqlA ) | FEMEER S
51 3247/ A |HREET (25BqLL ) |[#REE T (25BqlL ) |23 (25BqlA ) | FEBER
52 (%47 /3 A |HREET(25BqllT) | E 3 (25BalL F) | &£ 3 (25BqlA ) | FEREER S
53 |24/ FME |[REET (25BqLTF) 33.90 33.90 Rz
54 (247 /3 A |HREET(25BqllT) | E 3 (25BalL ) |3 (25BqlA ) | FEMEER S
55 |27 /3 A |HREET (25BqLL ) |[#RE T (25BqlL ) |[#&RE £ 3 (25BqlA ) | FEBEIR S
56 (%47 /3 A |HREET (25BqllT) |3 (25BqlL F) | & €3 (25BqlA ) | FEREER
57 |24 /(&) FR [T (25BqLT) [ 9 (25BqlA ) [#R €9 (25BqlA ) | FEBEIR
58 |27 /3 (&) ER  [HmEET(25BqLLTF) 29.10 29.10 FEng =L
59 |24 /(&) BHE |[RHEET (25BqUT)|HREET (25BqllT) [RHEE I (25BqATF) | FERIER
60 (%247 /3 (&) A |HREET (25BqlL ) |[#&RHEE 3 (25BqlL ) | £ 3 (25BqlA ) | FEMEER
61 |EHE BFH |HREET(25BqLLT) |#&REE T (25BqL ) |3 (25BqlA ) | FERER S
62 |ERE FH  |BREET(25BqLLT) |3 (25BalL ) | £ 3 (25BalA ) | FEREER S
63 | EtaE FH  |BREET(25BqLLT) |[#RE T (25BqL ) |[#RE 23 (25BqlA ) | FERER
64 |ERE FiH  |BREET(25BqLLT) |3 (25BalL ) | €3 (25BqlA ) | FEREER S
65 | EtaE FH  |BREET(25BqLLT) |k T (25BqL ) |23 (25BqlA ) | FEREIR
66 [EfE FH  |BREET(25BqLLT) | B3 (25BalL ) | £ 37 (25BalA ) | FEMEER S
67 |ERE BHE |[RHEET(25BqAT)|HRHEET (25BqllT) [HRHEE T (25BqATF) | FERIER
68 [Ef&E BHE |BRHEET(25BqLT)|#MREET (25BqLlT) [#RHE 7 (25BqlT) | IERIER
69 | EtaE BA  |HREET(25BqLLT) |#REE T (25BqlL ) |[#&RE 3 (25BqlA ) | FERER
70 |[ERE KB |9 (25BqllT) |9 (25Bqll )[R €3 (25BqlA ) | FEMEER
N |ERE ZHEA [HREHET (25BgAT) [HRHE T (25BqAT) [ (25BqAT) | FER IR
72 |EREFE WiR  |[#BREET (25BglAT) [#RHEET (25BalA ) [#RHE T (25BalA ) | FERIE
73 | ERE AT |HBREET (25BqLLT)|H&REE T (25Bqll ) |[#&HE £ 3 (25BqlA ) | FERER S
74 |ERE AE |HRHEET (25BqllT)|H&RHEE T (25Ball F) |3 (25BalA ) | FEBEERR
75 [f=5 D BiR  [BREET (25BqLLT) |[BRHE T (25BqlAT) [ HE T (25Bad ) | FEREER
76 |=3 {ZHEA |[#RHEET (25BaAT) |BREHE T (25BqlT) [#BRE T (25BqAT) [ JERIER
171=3 A |HREET (25BqlL ) |[#&REE T (25BqlL ) |[#&RHE £ 3 (25BqlA ) | FERER S
8 |=>=y IR |[BREET (25BglAT) [#RHEET (25BalA ) [#RHE T (25BqlA ) | FERIE
79 |EERE MR |[RHEE T (25BqlAT) |[#RH B9 (25BqlA T) [ H 97 (25BqlA ) | JERIE =
80 |EEERE A |[REET (25BqAT) |[BREET (25BaAT) [#RHEE T (25BqlA ) | IERKIE
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81 [[EBL HE |BRHEET (25BqLlT)|[#EHEET (25BqLllT) |[BREET (25BqLL )| FEfE
82 [[&5B<L RE |[HRHEE9 (25BqAT) |9 (25Bqll )[R €9 (25BqlA ) | FEMEER
837+ HH |RHEET(25BqlL ) |RHEE T (25BqlL ) |3 (25BalA ) | FEBEER
84 (7% BFH |HREET(25BqLlT)|#&REE T (25Bqll ) |[#&HE €3 (25BqlL ) | FEMEER S
85 7% BHE |BRHEET(25BqLT)|HRHEET (25BqLLT) |#MRHEE T (25BqlL ) | JERIERR
86 |7+ BA  |HREET(25BqLLT) | E 3 (25BqlL ) |[#&E €3 (25BqlA ) | FEMEER S
87 7% R |[HRHEE T (25BqlL )[R B3 (25BqlL ) |[#&HH £ 37 (25BalA ) | FEBEER
88 [[FINAE ZHEA [(HREET (25BqAT) [HBRHEE T (25BqlAT) [ (25BqA T) | FER IR
89 (2w AE |HRHEET (25BqlLT)|#RHEE T (25Ball F) |[#&H 3 (25BalA ) | FEBEER
90 2+ EIR  |HBREET(25BqLLT) |3 (25BqlL ) |[#& €3 (25BqlA ) | FEMEER
91 [AEF ZHEA [(HEHET (25BgAT) [HBRHET (25BqAT) [T (25BqAT) | FERIR
92 |I3EX AE |HREET (25BqllT) | E 3 (25Bqll ) | €3 (25BqlL ) | FEMEER
93 [ZvFa™w BFH |HREET(25BqLLT)|#&REE T (25BqlL ) |[#&RE 23 (25BqlA ) | FEBEIR
94 |LAR CHE |[REET (25BqLT) [HREE T (25BqLL ) [ 9 (25BqlA T) | IEMR
95 [LAR IR |#REET (25BqlL ) |3 (25BqlL ) |23 (25BqlA ) | FEBEIR
96 [7SE EIR  |HBREET(25BqlLT) |23 (25BqlL ) | £ 3 (25BqlA ) | FEREER S
97 [735E BHE |[REET(25BqUT)|HREET (25BqllT) [RHEE I (25BqATF) | FERIER
98 [7SE A |HREET(25BallT) |3 (25Ball ) | €3 (25BqlA ) | FEREER S
99 [T SE (%) FER  |#REET (25BqlL ) |[#RE 3 (25BqlL ) |[#&R £ 9 (25BqlA ) | FEBEIR
100| 75K (Zh) BHE |RHEET (25BqlT)|#MREET (25BqLlT) [#MRHE 7 (25BqllT) | IERIER
101|75E (%) BHE |[RHEET(25BqAT)|HRHEET (25BqllT) [HRHEE T (25BqATF) | FERIER
102(7SE (h) IR |[BREET (25BglAT) [RHEET (25BalA ) [#RHE T (25BqlA ) | FEREIE
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